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POLITICAL SCIENCE
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  For Aristotle which of the following statement is are not true ?
(a) Ideas are not realities.
(b) Idea could exist apart from the particular.
(c) There is absolute interdependence of the form and matter which can not be separated.
(d) Reality lies in a combination of form and matter.
Select the correct answer from the codes given below :

Codes :
(1) (a) and (d) (2) (b)only
(3) (a)and (c) (4)  (c) and (d)

2.  For Locke which of the following statement is are not true ?
(a) Desire is the spring of all human action.
(b) There are universally binding moral laws.
(c) The state of nature is a state in which men are equal and free to act within the
bounds of the law of nature.
(d) Men make a contract to enter into civil society.
Select the correct answer from the codes given below :

Codes :
(1) (d) only ~ (2) (b)only
(3) (a)and (c) (4) (b)and (d)

3.  For Bentham which of the following statement is are not true ?
(a) The doctrine of utility is a hedonistic doctrine.
(b) All experience was neither pleasurable nor painful.
(c) Pleasures were simply individual sensations.
(d) Happiness was not the piling up of all pleasures.
Select the correct answer from the codes given below :

Codes :
(1) (b)only (2) (d)only
(3) (c)and (d) (4) (a)and (c)

4.  For Hegel which of the following statement is are not true ?
(a) The universe is a coherent whole.
(b) Everything, including matter and the external world is not the creation of the idea.
(c) The history of the world presents us with a rational process.
(d) The rational is the real and the real is the rational.
Select the correct answer from the codes given below :

Codes :
(1) (a)only (2) (b)only
(3) (c)and (d) (4) (a)and (d)
Paper-I1 2 J-02-16
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5. Who among the following described the welfare state as a kind of enslavement ?
(1) Rawls (2) T.H. Green
(3) Michael Walzer (4) R. Nozick

6. For Ambedkar, which of the following strategies is not true regarding the destruction of
caste system in India ?

(a) Forging distinct identity for the dalits.

(b) Recognition of differential interests.

(c) Removing untouchability without destroying the caste system.
(d) Securing separate political representation.

Select the correct answer from the codes given below :

Codes : ‘
(1) (a) and (b) (2) (a) and (d)
(3) (c)only (4) (a)and (c)

7.  Match List — I with List — IT and select the correct answer from the codes given below :

List -1 List - II
(Authors) (Books)
(a) Robert A. Dahl (i) Dino racy and Disagreement
(b) Iris Marion Young (i)  Discursive Democracy : Politics,
Policy and Political Science
(c) John Dryzek LY & (iii) Inchsion and Democracy
(d) Amy Gutmann & Dennis f'iho’lson (iv) Democracy and its Critics

Codes :

@ @ (© (@
() Gv) @) @a) @
(2 @ () (i) (Qv)
(3) i) () (Gv) (D)
4) @Gy (@v) () (i)

8. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Gandhism is not Marxism minus violence or plus God.
Reason (R) : Marxism was based on violence and denial of God.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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9. Who among the following wrote the article entitled “The Behavioural Approach in
Political Science : Epitaph for a Monument to a Successful Protest” ?

(1) Heinz Eulaei (2) M.Q. Sibley
(3) R.A.Dahl (4) David Easton

10. Match List — I with List — II and select the correct answer from the codes given below :
List -1 List — II
(Mass Campaign) (Idea)
(a) The Great Leap Forward (i)  Students & intellectuals were first invited to &
express their criticism of the regime. o

(b) The Hundred Flowers (i) It was undertaken to defeat KMT forees-thro;}h .
guerrilla warfare. \ ’

(c) The Great Proletarian (iii) Destined to bring spectacular inc1£ase in r
Cultural Revolution economic productivity - %
(d) The Historic ‘Long (iv) Aimed at purging all anti-Mao elemé‘n}s from
March’ the party & the government.~
Codes :

(@ () (© (@
() G @  >Gv) ()
(2) Gy @G @H (@Gv)
3 O G 3G ()
@ Gv) @ Gy ()

11.  Which approach treats state as an institution intended for creation and enforcement of law
and refuses to treat it as a social organisation ?

(1) Legal - institutional approach (2) Political economy approach
(3) Normative approach (4) Comparative approach

12. Match List — I with List — IT and select the correct answer from the codes given below :

List—1 ( List — II
(Authors) (Books)
(a) John Aruﬁin (i)  The Law of the Constitution
(b) A.V. Dice.y" . (i) Modern Constitutions

f (¢) K.C. Wheare "‘.' (iii)  Elections and Political Development :
South Asian Experience

(d) * Norman ]_)'. Palmer (iv) Lectures on Jurisprudence.
Codes :
@ ® (© @
(H (@ (i) (iv) (i)
(2) @Gv) () G) (D)
(3) (@) (@v) (@) (@)
4) @y (@) @) Gv)
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13.  Which of the following are the features of the judicial system of the United Kingdom ?
(A) Rule of law
(B) Jury system
(C) Judicial review
(D) Separate administrative courts
Select the correct answer from the codes given below :

Codes :
() (A), (B) and (C) (2) (A), (B) and (D)
(3) (A)and (B) (4) (B)and (C)

14. Which of the following writers are not associated with dependency theory ?
(a) A.G. Frank
(b) Gramsci
(c) Louis Althusser
(d) Wallerstein

(1) (a)and (c) 2) (b and (d) '
(3) (b)and (c) (4)  (a) and (d)

15. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Proportional representation with single transferable vote system is more
representative than other systems of representation.

Reason (R) : In a majoritarian system, the minorities do not find adequate representation.
Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

16. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Rule of law implies equality of all in the eyes of law.

Reason (R) : Class and caste distinctions dilute the efficacy of equality.

Codes :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is correct, but (R) is false.

(4) (R)is correct, but (A) is false.
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17. Which of the following gives legitimacy to the government in modern times ?
(A) Party manifestoes
(B) Periodic elections
(C) Bureaucratic leadership
(D) Independent judiciary
Select the correct answer from the codes given below :

Codes :
(I) (D) and (C) (2) (A)and (B)
(3) (B)only 4) (A), (B) and (D)

18. Which of the following statements is not true about the systems theory ?
(A) Itis a ‘status quoist’ model
(B) Itis a dynamic model as it seeks to explain the functioning of a political system
(C) It is mostly relevant to western advanced nations.
(D) It has not taken into account the third world countries reality
Choose the correct answer from the codes given below :

Codes :
(1) (B)and (C) (2) (B)only
(3) (A)and (C) 4) (A)and (D)

19. Which of the following contributed to the streag the using rise of executive and the
relative decline of legislature in modern times ?
(A) Delegated legislation
(B) Charismatic leadership of the executive
(C) Energence of party system
(D) Specialization leading to the complex nature of legislation
Select the correct answer from the codes given below :

Codes :
() (A)and (B) (2) (A)and (C)
(3) (B)and (C) 4) (A), (B), (C) and (D)

20. Which of the following statements are true regarding a revolution ?
(A) Revolution implies a shift in the class composition of elites.
(B) Transfer of power by legal or non-legal means.
(C) Alteration of values and myths of the society.
(D) Alteration of institutions
Select the correct answer from the codes given below :

Codes :
() (A)and (D) (2) (B)and (C)
(3) (A), (B) and (D) 4) (A), (B), (C) and (D)

21. Which of the following statements about the proposals of the Cabinet Mission is incorrect ?
(1) There would be a Union of India comprising of both British India and the States.
(2) The Union would have an executive and a legislature consisting of representatives of
the provinces and the states.
(3) All residuary powers would belong to the Union of India.
(4) The provinces would be free to form groups with executives and legislatures.

Paper-I1 10 J-02-16

www.examrace.com



17.

18.

19.

20.

21.

fefefad § ¥ &9 9 2Ty T0a § TR T AT TR H & 2
(A) TelT SEOTTS

(D) T&as Tt

T 5T T Fe H T T SR B AT HIC

(1) (D) 3R (C) (2) (A) 3R (B)
(3) e (B) 4) (A), (B) 3 (D)

fefeiaa o © o 9 U o (Hgid & o § 9l 1 ¢ 2

(A) T8 FTefaam) ey &

(B) TE A TR & Hifeh T8 STlicish SHereT s shraivunell shi AT =@ &
(C) TE Afehivr; arvem faesiad el & fore o &

(D) TG TR 3T 3 IR i ATATerehaT b1 &4 el 7@ ¢ |

T feT T e H ¥ e ST FH TG HIT
(1) (B) 3R (C) (2) %A (B)
(3) (A) &R (C) 4) (A) &R (D)

FTeiEd 7 ¥ R STYie: THa H SHIaeiet o ISRl 8 3IR SFaReyen! & U § Are fear 2
(A) TR I

(B)  HTEUICTohT ol HRTHTEAE! el

(C) Tl SHaeT & 35

(D) fafereieantor o SHROT faema T ot Stfeet Uehid i @

e {T T e § W W S A TIT DT
(1) (A) &R (B) o (2) (A) &R (C)
3) (B) 3R (C) 4 (A), (B), (C) 3R (D)

Hifd & IR | Ffefaa 3 d o T FuT 9 € 2

(A) T 1 ST & ST & i @y 1 e
(B) Sufer 3R A-aei-ieh QreHT gRT Ve b1 g&diaor
(C) TEN &% Yoot 3 et # ufer

(D) TEeT § uRad

T ST T Fe H ¥ el ST T =9I HIT ;

(1) (A) &R (D) (2) (B) 3R (C)

3) (A), (B) 3 (D) @) (A), (B), (C) 3R (D)

Hiae 09 & Ul & o § FEtaiad § ¥ i 91 o o § 2

(1) U Rar g g e ffest v #ie s 9t wftfera 8 |

(2) FE D T HHEUNADT 3R YR G STEH Ui 3T a1 3 WAt hemferd g |
(3) vt srafne vifeET AR S % O Ee |

(4) FEUTCTRIST 3T FTEMUHTST & AT THE T & [T Ui e it |

J-02-16 11 Paper-I1

www.examrace.com



22. The word ‘socialist’ in the Preamble does not imply :
(1) Equal distribution of the national wealth
(2)  Social ownership of principal means of production
(3) Nationalization of means of production
(4) Provide a decent standard of life to the working people

23. By which Constitutional Amendment Act, protection of freedom of expression was
withdrawn from those who advocate secession from the Union of India ?
(D) 14™ Constitutional Amendment Act
2) 16™ Constitutional Amendment Act
(3) 18" Constitutional Amendment Act
(4) 20" Constitutional Amendment Act

24. Of the following, which group of states has more than 30 Lok Sabha constituencies ?
(1)  Gujarat, Karnataka, Maharashtra, Tamil Nadu
(2) Madhya Pradesh, Maharashtra, West Bengal, Rajasthan
(3) Bihar, Madhya Pradesh, West Bengal, Uttar Pradesh
(4) Bihar, Maharashtra, West Bengal, Tamil Nadu

25. Which of the following statements are true about the powers of a Governor ? Select the

correct answer from the codes given below :

I. Members of State Public Service Commission can be removed by the President on the
report of the Governor.

II. Unlike the President, the Governor has no power to appoint judges of the State High
Court.

IIL. Like the President, the Governor can nominate two members of the Anglo-Indian
community to the Legislative Assembly of the state.

IV. The Governor is to be consulted by the President in the appointment of the Chief
Justice and the judges of the High Court of the state.

Codes : ]
(1) TandII only (2) 1I and III only
(3) I and IV only (4) I and IV only

26. Which of the following statement/s about the Attorney General of India is/are true ? Select
the correct answer from the codes given below :
(i) The Attorney General is not a member of the Cabinet.
(i)  The Attorney General has the right to speak in either of the Houses of Parliament.
(iii) The Attorney General shall have the right of audience in the Supreme Court of India.

(iv) Th Attorney General shall have the same qualifications as are required to be a judge
of the Supreme Court.

Codes :
(1) (i), (i) and (iv) only (2) (ii), (iii) and (iv) only
(3) (i), (ii) and (iii) only (4) (i) and (ii) only
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22.

23.

24.

285.

26.

TEATSAT § THISTaR” 9165 3T 3T el &
(1) T JET 1 G oo (2) STRA & TE QIEAT S WIS @i
(3) STAG o TTEAT T AR (4) =R % [T 2T Sem &)

fore GarTTeh GeIE STt 9§ S o § SAfeatead ot Wiosidl arqy of off 72 & S YRdg 99
T AT B FTHeAd Hd & 2

(1) 1457 Gfaam Ty rafTag (2) 1687 GiaEr Tme T
(3) 18T iU G AT (4) 209 GiTEM G AT

frfetaa & @ Tt & fobg e 9 30 I i i o7 8 € 9
(1) TR, FAeh, HeRTE, AHeHIg

(2) HEA YRR, WERTEE, UvEH S, ST

(3) foer, W R, ofvem e, ST TR

(4) TR, wenrg, ufyed s, ateTg

TSI i ATl o aR § FefeiEd 8§ § ®F 3 S T € 2 7 U 0 e § T 9 ST A
Wﬁﬁﬂ?:

I U o HAeRT & STTHR WX TN 59 Tiieh JalT 3TART o TSl i ST Y Tehl & |
1. ITufd st qoiT § ToAUTe o U 3o ~ATI1eTd o ~ATATeen o (ferT bl g Ifer i & |

111, U & FHA TSI SA-IRAT IR & I T8l &l T5F & [qam o § Jifva a2
HHaTe |

V. T & 30 e o Y =T SR =raden st fafed o weufa s asauret 9 foa=r-
fomet T T € |

&
(1) HealsRn (2) e 11 3 111
(3) FAAUITIV (4) e I 3R 1V

IR & TRl & g H fAffed A A A @/ FH A A W e/ e A R mw s 4 9
T I HT T DI -

() HEHEaR! THed & HeE T e |

(i) TEZ % fopdl ff I | dier %1 SRR FerarEemt e € |

(i) YRA % FaTed AT § HeT=a=a&l o gIaTs & AHHR ¢ |

(iv) FETITEETE! S NI Feres rEerd o IR & JTEdl o GHH el ¢ |
Ek

(1) e (i), (ii) 3 (iv) (2) FHIA (i), (iii) 3V (iv)

(3)  ®aA (i), (i) AR (iii) (4)  HaA (i) 3R (i)
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27. Match List — I with List — IT and select the correct answer from the codes given below :

List -1 List — 11
(Union Territory) (High Court Jurisdiction)
(a) Lakshdweep (i) Bombay
(b) Andaman and Nicobar Islands (ii) Madras
(c) Dadra and Nagar Haveli (iii)) Kerala
(d) Pondicherry (iv) Calcutta

Codes :

@ O (© @
() @Gv) @) @) ()
(2) (i) (@) (@v) (D)
(3) Gv) () (@) (1)
4) (i) @Gv) @) (i)

28. Match List — I with List — IT and select the correct answer from the codes given below :
List -1 List — II
(Articles) (Provision)
(a) Article243 K (i)  Reservation of seats forSC.and ST'in panchayats
(b) Article243 Q (ii) Eligibility criteriongor urban local government institutions
(c) Article243 V  (iii) Establishment of State Election Commission
(d) Article 243 D (iv) Formation of urban local goyernment institutions
Codes :

(@ (b (© (@
(H @ G aGv) (D)
(2) @G Gv) G @)
) Gy G @ Gv)
@G @O G (>di) (3{v)
29. Who among the following Prime Ministers served for the longest tenure ?

(1) V.P. Singh (2) Chandra Shekar
(3) P.V. Narsimha Rao (4) H.D. Deva Gowda

30. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Regional or self-determination movements in India are said to have
followed an inverse ‘U’ curve.

Reason (R) : Heightened mobilization of group identities are followed by negotiations,
and eventually such movements decline ‘as exhaustion sets in...’

Codes :

(1) Both (A) and (R) are individually true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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27. gl — 1 o — [ 9 Gafed HiT X 99 5T 70 e § ¥ T&l ST H 994 DI
et - 1 =t - 10

(che SITrEe T9T) (39 AT FHT AATIHR)
(a) TG () =%
(b) 3eAM R FHER 5T 998 (i) HAI
(c) TRAT AR TR gdedl (iii) et

(d) oS (iv) hotehr
HE:

(=N

(@ () (© (@
(H Gv) @G @ (D)
(2) G @  Gv) (i)
3 Gv) @ (@) (D)
4 @G @Gv) @ (>G)

28. e — [T il — [T 9 et I 3R A KT 70 e & & Hel 3T 1 =T HI :

et -1 e - 11
(FTRT) (STTET)

(c) BT 243V (i) I A M
(d) =T 243D  (iv) TR ©=HEA e e

%<

(@ () (© (@
H @ @) aGv) (i)
(2 G @Gv) G (@)
) ) @G @ @)
@4 O G > (@Gv)

29, TAfAfEd 4 9 g o= 96 3 Haities ol ey & fod & i 2

(a) I 243K (i) U9 | SFgrad ST 3 STSTIe o ferT Hiel o1 Ao
(b) 3WT 243 Q (i) TRIT WHE T o AIRUS

(1) = e o (2) TEIER
(3) el i e (4) T e
30. A9 3 %A KU M €, U Al AEE (A) IR S H T (R) FET T | A KU T %
TR XA §T HEl I T
AFHHAT (A) ¢ R & SE1T 37T -0 Ao o foud § el ST ¢ {6 S uidetd
AT (F-27) B e e |

% (R) : T8 TEdH I Tcash AHe=] & YT ararei 1 I] WRe BT ¢ 3K Sfdaier 3
I I o HROT 1107 I8 o1 & |

E T

(1) (A) 3T (R) 31 T & 31T (R), (A) T Tl TR0 E |

(2)  (A) 3R (R) IH T &, T (R), (A) T &l TLBT &1 & |

(3) (A)TAE R (R) STTAE |

4 (A FHIE R (R)TAE |
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31. At which stage of the evolution of public administration, the ‘public’ aspect of public
administration was virtually dropped and the focus shifted to ‘efficiency’ ?

(1) First stage (2) Second stage
(3) Third stage (4) Fourth stage

32. L.D. White defines O & M as the ‘improvement of all aspects of transacting business with
special emphasis on :

(1) Organisation and efficiency (2) Procedures and flow of business

(3) Organisation and command (4) Procedures and relationships

33. Which one of the following is not associated with ‘Garbage Can Model’ of decision-

making ?
(1) Michael D. Cohen (2) Amitai Etzioni
(3) James G. March (4) Johan P. Olsen

34. Participatory management became popular dliring and aftc;,r the advent of :

(1)  Scientific Management Theory = (2) Bureaucratic Theory
I 1

(3) Human Relations Theory (4) Systems Theory

35. Which one of the following is not correct in Herbert Simon’s concept of decision-
making ?
™ B
(1) Combination of value and factual elements is not possible in a single decision.
(2) Decisions in an organisation are not made by a single individual.
(3) Activities get their value from means-ends relationship.

(4) Decisions can be evaluated only in terms of their factual element.

36. Which of the following factors impact on the extent of span of control of a supervisor ?
(a) Size of the organisation
(b) Diversification of functions
(c) Number of supervisors
(d) Personality of the supervisor

Select the correct answer from the codes given below :

Codes :
(1) (a) and (d) (2) (a), (c) and (d)
(3) (b)and (d) (4) (a), (b)and (d)
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31. T RIS & e [ThM & (69 TR0T | Al WA o T T8e] i a&qa: &l < T aen
I FICTAT U BFA B AT T4 2

(1) T =R (2) g ==or

(3) g =T (4) =qd =R]oT

32. UGS =TS A 37 WS UH & HEF B P T Teolell § IR & B9 § g fmar €, e
= 8 9 g W fow =t e man & 2

(1) WTeH Ta HEGRHT (2) TRHATE UE 1 TR
(3) T U I (4)  HispaTE T el

33. f=fetad § 9 frge Say o fHior & “TRes o Jieer 9 181 & 2

(1) s & R (@) e v
(3) =g ST A= (4) SER T, et
34, FEAfGREd 9 fFas STTHA o SR T27 T9ENd HIERT JaE= SAhiR gai 2
(1) o gee fagr (2) e g
(3) TFd Gy fagr (4) e g

35. f=fafaa & @ %9 Q1 wue o foior Tl e3ae g 6 Gehed=T 3 el T8 € 2
(1) wﬁﬁaﬁwwwaﬁ%ﬁmwﬁ%l
(2) T G 4 i e U safe gRT el ferg ST |
(3) T 3 W & BT S T T A
(4) HIT TEATHE a7 o YR UR & T S GoaiehT {ohaT ST Fehel & |

36. TATANEd § ¥ B 9 R YIaeTs & =0T & T T9TE STt § 2
(a) e W AHR
(b) TsraTsRerTaT o fafaeienzor
(c) UISIRTHI i TE
(d) AT FT AT
e f5T T P H T Tel W g

w

(1) (a) T () (2)  (a), (c) T (d)
(3)  (b) T (d) 4 (a), (b) T (d)
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37. Match List — I with List — IT and select the correct answer using the codes given below :
List -1 List — II
(Thinker) (Concepts)
(a) Edward Weidner (i) Comparative Administration Group
(b) Martin Landau (i) Mixed Scanning
(c) Amitai Etzioni (iii) Development Administration
(d) Herbert Simon (iv) Rational Approach
Codes :
(@ (b (© (@
() G @G @ (@Gv)
(2) Gy (@v) (@) @3
(3) Gi) (@) (G (@)
@ @ (@) @Gv) (D)

38. Which of the following are the components of training programme for IAS ?
(a) Foundation training
(b) Professional training
(c) Peer training
(d) District training
Select the correct answer from the codes given below :

Codes : B
() (a), (b), (c) and (d) _ (@ (a),(b)and (d)
(3) (a),(c)and (d) (4) (a) and (d)

39. The civil services examination based on the recommendations of Kothari Committee
Report of 1976, was first conducted in :

(1 1977 (2) 1978
(3) 1979 (4) 1982

40. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : The traditional theory of motivation complements the ‘economic man’
concept given by F.W. Taylor.

Reason (R) : Material rewards are incentives for members of organizations to work
harder for more material benefits.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

www.examrace.com



37.

38.

39.

40.

Tt — 1 1 gt — 11 & 91 GAferd e qom =i KT 7T e 1 =0T e g¢ Tet S G ¢

et -1 = - 10
(fa=mes) (TR
(a) TS fae (i) TS TR e
(b) HIfe (i) Tafsa <

(c) UHerR i@ (i)  foepra wemes
(d) T QR (iv) T giteshioT
T
@ O @© @@
() @Gi) @G @  (v)
(2) Gy @[v) (i) (D)
(3) Gi) () Gy (v)
4) (@ (i) @Gv) (i)

FrAfeiad o | o7 3T T U & FI1eIoT HhH & 62 € 2
(a) ST ureTeTor

(b) USSR WTeTRTOT

(c) UIaX ueTeTor

(d)  Tror ufemeror

T 5T T Fe H ¥ T SR g

®: .

1) @6.O™d @ @b
3 @, @@ @ (@)

aﬁaﬁaﬁﬁaﬁﬁﬁéﬁ@ﬁsﬁ%wwﬁwﬁﬁawmmmﬁaaﬁnﬁ?
(1) 1977 " (2) 1978

(3) 1979 (4) 1982

e 51 e fRU Tw § ST 9 U e (A) 3R SE i G (R) T TN § | e e T

< T TANT I G Fel IR T -

ATUH (A) : IR T ORI (GFT U §g, 20 i IR T STITEROT T I & |

A% (R) : S & T & (o0 Wi R W6 & &, i o 3% wifass oml &q 3%
REH I B B |

E T

(1) (A) 3T (R) ST el & TAT (A) Tt el =97 (R) ¢ |

(2) (A) 3R (R) IHI Tel €, T (A) Sl Gel =& (R) &l & |
(3) (A) " T, W (R) T & |

4) (A) A E, T (R) W& |
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41.

42.

43.

44.

45.

46.

Which of the following approaches to the study of international relations, the concept of

national interests finds an important place
(1) Liberal approach (2) Realist approach
(3) Marxist approach (4) Traditional approach

Who was the first scholar to use the term “Public Diplomacy” ?
(1) Edmund Gulien (2) Eugene Black
(3) R. Cohen (4) Harold Nicolson

Ann Tickmen is a famous
(1) Realist (2) Feminist
(3) Liberalist (4) Marxist

Match List — I with List — II and select the correct answer from the codes given below :

List - I List - II
(Books) (Authors)
(a) The Theory of International Politics (i) ~ Earnest Haugs =~
(b) The Tragedy of Great Power Politics  (ii) David Mitrany |
(c) A Working Peace System (i)’ John*Mearsheimer
(d) The Uniting of Europe V) Keri:e\fh Waltz
Codes :
@ (b (© (@
() Gv) @) G) @
(2) Gv) (@) (@) (3D
(3) Gv) () () (1)
@4 @ @) (G (@Gv)

Who among the following is not a supporter of ‘Policy Oriented Approach’ of

International Law ?
(I)  Myres. S. Mcdougal (2) Andy Knight
(3) Lasswel (4) Michael Reisman

Match List — I with List — II and select the correct answer from the codes given below :

List -1 List — II
(Authors) (Ideas)
(a) Anthony 1d&q.ns (i)  Capitalism has contributed to globalisation
(b) J.N. Rosenau (it)  Political factors are responsible for a globalisation
(c) . Gilpin | (iii) Globalisation is the result of technological development
(d). Wallerstein (iv) Globalisation is the result of modernisation
Codes :

(@ (b (© (@
(H @ @G aGv) (D)
(2 G) @ (Gv) (i)
) Gv) @) G (1)
@ @ G (Gv) (i)
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41.

42.

43.

4.

45.

46.

SR T o 3T gl {oh SUTTH | TS f&al b1 STeRoT %1 W I W € 2

(1) SIRER! U (2) T AT
(3) HIRATRT 3UTH (4) TTERETEY AT
e fogM B & T Fauey “dis T IIs5 1w foar 2
(1) ueHS Ter (2) st =T
(3) 3N HRA (4) s FHherE
T foohee € U foema
(1) Fmedae (2) THEm
(3) SIRARI (4) HEEEET
it — 1 1 et — 11 | fet ¢ qem Wt Siel o1 =g o
et -1 =t - 11 -
(T) (m) <
(a) T @R 3E T Uieareard (i) C
(b) T IS 3 U< U uitcAreR (i) %%Kc,rﬁqﬁr*“ (
(c) U afHT urg faeey (iii) ‘Wﬁﬁﬂ'{’
(d) T FARMT 3 I (iv)

%< :

(=N

@@ (b () (@
(H  Gv) G ) (@)
(2) Gv) @) @ (D)
3 Gv) @ (@) (D)
@4 O G G (@)

=1 o ¥ B SR fafy @ “Hifd I3t SurT” %1 gHedE @ € 2

(1) 9EdTd. dhgTe (2) Ul
(3) wrEeA (4) TR TR
Tt — 1 1 Gt — 11 9 Tl Y o Tt STt 1 =2 e
gt -1 et — 11
(FEH) (fermm)
(a) UL ‘\_'(i) J-HSeAHIT USTaTg Bl ST T |
(b) ST (i)  J-TeetHor & for T HRP STWIET & |

(c) . fafm /| (i) -TScHRROT AhIh oI aRome € |
(&) TERER | (iv) JHSAHOL, YR H IO & |
LT
@ b @© (@

(h (@ @) (v) (i)

(2) @Gy @) (@Gv) (i)

(3) () (i) (@) (1)

@) @ Gy (@Gv) (i)
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47. Arrange the ministerial conferences of W.T.O. in their chronological order :

(a) Singapore

(b) Seatle

(c) Doha

(d) Hongkong

Codes :

(1) (@), (b), (c), (d) (2)  (a), (b), (d), (¢)
(3)  (b), (), (0), (d) 4 (d), (c), (b), (a)

48. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : New International Economic order seeks to promote more harmonious
and favourable relations between the advanced nations and the developing countries.

Reason (R) : The terms of trade and transfer of technology to the developing countries is
not advantageous to them.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

49. In which year the Right to Development was declared as a Human Right by the United
Nations General Assembly ?

(1) 1980 (2) 1986
(3) 1998 (4) 2006

50. At which of the following places the UN Security Council has held its sessions _____.
(i)  Addis Ababa, 1972
(i) Panama city, 1973
(iii) Geneva, 1990
(iv) Havana, 1992

Select the correct answer from the codes given below :

Codes :
(1)__‘ (1), (i), (iii) (2) (i), (iib), (iv)
(3) (1), (i), (iv) @ (1), (), (ii1), (iv)
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47. {999 AR WA & HHERAT T Sl Sk HIATA H saared i :
(@ famR
(b) Fowee
(c) dw
(d) EFTHET
T
(1) (@), (b), (), (d) (2) (@), (b), (d), ()
(3) (b), (), (), (d) 4) (d), (c), (b), (a)

48. T < %A U U E, T @ w6l S (A) 3R T T a% (R) Fel T | e e |
H T SO A T HIT

Al (A) : T T SE fawtad T fomasiar I & me At gedn 9
THEAY0T T hi fshiad e =Rt € |

T (R) : AR AT Thrieh! BEALOT Tt Maer foshraeiier Tt o ford emvyepiy T8 € |

&

(1) (A) 3T (R) 31 T €, 31T (R), (A) T &l WL |

(2) (A) 3T (R) T T €, AT (R), (A) 1 &l TR0 & ¢ |

(3) (A)TFE g (R) 3TA ¢ |

4) (A) I E R (R) TAE |

49. 59 a9 TR T Al HETAT 7 Tk o STHHR o AFaIERR S 5 2
(1) 1980 (2) 1986
(3) 1998 (4) 2006

50. T 5 ¥ T RIT W T T G UROE, o e ST g4 € 2
(i) oTfew a7, 1972
(i) o= TEE, 1973
(i) =T, 1990
(iv) &M, 1992

1 Fz ¥ ¥ & SR F FIH FIF

T

(1) (@, (), (1) (2) (), (i), (iv)

3) (), (i), (iv) @) (), (i), (iid), (iv)
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